Name __________________________

Date _________________

Solving and Graphing Inequalities

1. Which graph represents the solution of 4m – 3 < 7?
a)  






b)  
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c)  






d)  




2. Which graph represents the solution for -2(x + 3) ( 0?

a)  






b)  



c)  






d)  




3. Which graph represents the solution for -3x + 8 < 14

a)  






b)  



c)  






d)  


4. Solve each of the following inequalities.  Then, graph their solution on the provided number line.  Finally, check your answer by plugging in the endpoint, a point to the left, and a point to the right.  The first one is done for you.

	a)  -3t + 6 ( -3 








Check for endpoint:  _________________


Check for left of ep:  _________________


Check for right of ep: _________________


	b)  -5 – 8f > 59


Check for endpoint:  _________________

Check for left of ep:  _________________

Check for right of ep: _________________



	c)  5(2x – 3) – 7(x – 1) > 4h – 6 

Check for endpoint:  _________________

Check for left of ep:  _________________

Check for right of ep: _________________
	d)  
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Check for endpoint:  _________________

Check for left of ep:  _________________

Check for right of ep: _________________
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